
NÁSOBENÍ LOMENÝCH VÝRAZŮ 

1) Vynásobte:  

a)  
𝟏𝟒𝒂𝟑𝒙

𝟏𝟓𝒃𝟒𝒚
∙

𝟓𝒃𝟑𝒚𝟐

𝟕𝒂𝟒𝒙𝟐
=

2

3𝑏
∙

𝑦

𝑎𝑥
=

𝟐𝒚

𝟑𝒂𝒃𝒙
   podm.: 𝑎 ≠ 0, 𝑏 ≠ 0, 𝑥 ≠ 0, 𝑦 ≠ 0 

b)  
𝟖𝒂𝒃

𝟑𝒄𝟐𝒅𝟐
∙ (−

𝟐𝟏𝒄𝟒𝒅𝟒

𝟑𝟐𝒂𝟑𝒃𝟑) = −
1

1
∙

7𝑐2𝑑2

4𝑎2𝑏2
= −

𝟕𝒄𝟐𝒅𝟐

𝟒𝒂𝟐𝒃𝟐
   podm.: 𝑎 ≠ 0, 𝑏 ≠ 0, 𝑐 ≠ 0, 𝑑 ≠ 0 

c)  
𝟐𝒂𝟑𝒙𝟓

𝟑𝒃𝟐𝒚𝟒
∙

𝟔𝒂𝒚𝟒

𝟓𝒃𝒙𝟒
∙

𝒃𝒚

𝒂𝟑𝒙𝟐
=

2𝑥

𝑏2
∙

2𝑎

5
∙

𝑦

𝑥2
=

4𝑎𝑥𝑦

5𝑏2𝑥2
=

𝟒𝒂𝒚

𝟓𝒃𝟐𝒙
   podm.: 𝑎 ≠ 0, 𝑏 ≠ 0, 𝑥 ≠ 0, 𝑦 ≠ 0 

d)  
𝟐𝒂𝒔

𝟑𝒅
∙ (−

𝟑𝒅𝒎

𝟓𝒄
) ∙ (−

𝟐𝒄

𝒔
) =

2𝑎𝑠

3𝑑
∙

3𝑑𝑚

5𝑐
∙

2𝑐

𝑠
=

2𝑎

1
∙

𝑚

5
∙

2

1
=

𝟒𝒂𝒎

𝟓
   podm.: 𝑑 ≠ 0, 𝑐 ≠ 0, 𝑠 ≠ 0 

e)  7𝒙 ∙
𝟏𝟑𝒙

𝟏𝟒𝒚
∙ (−

𝟏𝟐𝒚𝟐

𝟏𝟑𝒙𝟐) = −
7𝑥

1
∙

13𝑥

14𝑦
∙

12𝑦2

13𝑥2 = −
𝑥

1
∙

1

1
∙

6𝑦

𝑥
= −

6𝑥𝑦

𝑥
= −𝟔𝒚  podm.: 𝑥 ≠ 0, 𝑦 ≠ 0 

f)  
𝟗𝒙𝒚

𝟓𝒂𝒃
∙

𝟑𝒂𝒃

𝟒𝒚𝒛
∙

𝟒𝒃𝒛

𝟑𝒂𝒙𝒚
=

9

5𝑎
∙

1

𝑦
∙

𝑏

1
=

𝟗𝒃

𝟓𝒂𝒚
   podm.: 𝑎 ≠ 0, 𝑏 ≠ 0, 𝑥 ≠ 0, 𝑦 ≠ 0, 𝑧 ≠ 0 

g)  −
𝟐𝟓𝒙𝟒𝒚𝟑

𝟏𝟒𝒂𝟐 ∙ (−
𝟐𝟏𝒂𝒃

𝟏𝟎𝒙𝟑𝒚𝟑) =
25𝑥4𝑦3

14𝑎2 ∙
21𝑎𝑏

10𝑥3𝑦3 =
5𝑥

2𝑎
∙

3𝑏

2
=

𝟏𝟓𝒙𝒃

𝟒𝒂
   podm.: 𝑎 ≠ 0, 𝑥 ≠ 0, 𝑦 ≠ 0 

2) Násobte: 

a)  
𝒂𝟐𝒃−𝟒𝒃𝟑

𝟑𝒂𝒃𝟐
∙

𝒂𝟐𝒃

𝒂𝟐−𝟐𝒂𝒃
=

𝑏(𝑎2−4𝑏2)

3𝑏
∙

𝑎

𝑎(𝑎−2𝑏)
=

(𝑎−2𝑏)(𝑎+2𝑏)

3
∙

1

(𝑎−2𝑏)
=

(𝑎+2𝑏)

3
∙

1

1
=

𝒂+𝟐𝒃

𝟑
 

podm. 𝑎 ≠ 0, 𝑏 ≠ 0, 𝑎 ≠ 2𝑏 

b)  
𝒙𝟐−𝒙𝒚

𝒙𝟐+𝒙𝒚
∙

𝒙𝟐𝒚+𝒙𝒚𝟐

𝒙𝒚
=

𝑥(𝑥−𝑦)

𝑥(𝑥+𝑦)
∙

𝑥𝑦(𝑥+𝑦)

𝑥𝑦
=

𝑥−𝑦

1
∙

1

1
= 𝒙 − 𝒚   podm. 𝑥 ≠ 0, 𝑦 ≠ 0, 𝑥 ≠ −𝑦 

c)  
𝒂𝟐−𝒃𝟐

𝒂𝟐
∙

𝒂𝟒

(𝒂+𝒃)𝟐
=

(𝑎−𝑏)(𝑎+𝑏)

1
∙

𝑎2

(𝑎+𝑏)2
=

(𝑎−𝑏)

1
∙

𝑎2

𝑎+𝑏
=

𝒂𝟐(𝒂−𝒃)

𝒂+𝒃
   podm. 𝑎 ≠ −𝑏, 𝑎 ≠ 0 

d)  
𝒙𝟐−𝟒𝒚𝟐

𝒙𝟐−𝒙𝒚
∙

𝒙−𝒚

𝒙𝟐+𝟐𝒙𝒚
=

(𝑥−2𝑦)(𝑥+2𝑦)

𝑥(𝑥−𝑦)
∙

𝑥−𝑦

𝑥(𝑥+2𝑦)
=

𝑥−2𝑦

𝑥
∙

1

𝑥
=

𝒙−𝟐𝒚

𝒙𝟐
  

podm. 𝑥 ≠ 0, 𝑥 ≠ 𝑦, 𝑥 ≠ −2𝑦 

e)  
𝒂𝟐−𝒃𝟐

(𝒂+𝒃)𝟐
∙

𝟑𝒂+𝟑𝒃

𝟒𝒂−𝟒𝒃
=

(𝑎−𝑏)(𝑎+𝑏)

(𝑎+𝑏)2
∙

3(𝑎+𝑏)

4(𝑎−𝑏)
=

1

1
∙

3

4
=

𝟑

𝟒
   podm. 𝑎 ≠ ±𝑏 

f)  −
(𝒂+𝒃)𝟐

(𝒂−𝒃)𝟐
∙

𝟑(𝒂−𝒃)𝟐

𝟒(𝒂+𝒃)𝟑
= −

1

1
∙

3

4(𝑎+𝑏)
=

− 𝟑

𝟒(𝒂+𝒃)
   podm. 𝑎 ≠ ±𝑏 



3) Násobte: 

a) 
𝒂𝒙+𝒂𝒚

𝒙𝟐−𝟐𝒙𝒚+𝒚𝟐
∙

𝟐𝒙+𝟐𝒚

𝒂𝒙𝟐+𝟐𝒂𝒙𝒚+𝒂𝒚𝟐
=

𝑎(𝑥+𝑦)

(𝑥−𝑦)2
∙

2(𝑥+𝑦)

𝑎(𝑥2+2𝑥𝑦+𝑦2)
=

𝑥+𝑦

(𝑥−𝑦)2
∙

2(𝑥+𝑦)

(𝑥+𝑦)2
=

1

(𝑥−𝑦)2
∙

2

1
=

𝟐

(𝒙−𝒚)𝟐
 

podm. 𝑎 ≠ 0, 𝑥 ≠ ±𝑦 

b)  
𝟐𝒂𝟑−𝟐𝒃𝟑

𝟑𝒂+𝟑𝒃
∙

𝟔𝒂𝟐−𝟔𝒃𝟐

𝒂𝟐−𝟐𝒂𝒃+𝒃𝟐
=

2(𝑎3−𝑏3)

3(𝑎+𝑏)
∙

6(𝑎2−𝑏2)

(𝑎−𝑏)2
=

2(𝑎−𝑏)(𝑎2+𝑎𝑏+𝑏2)

𝑎+𝑏
∙

2(𝑎−𝑏)(𝑎+𝑏)

(𝑎−𝑏)2
= 

=
2(𝑎2+𝑎𝑏+𝑏2)

1
∙

2

1
= 𝟒(𝒂𝟐 + 𝒂𝒃 + 𝒃𝟐)            podm. 𝑎 ≠ ±𝑏 

c)  
𝟐𝒙𝟐+𝟖𝒙+𝟖

𝒙−𝟐
∙

𝒙𝟑−𝟖

𝟒(𝒙+𝟐)
=

2(𝑥2+4𝑥+4)

𝑥−2
∙

(𝑥−2)(𝑥2+2𝑥+4)

4(𝑥+2)
=

(𝑥+2)2

1
∙

𝑥2+2𝑥+4

2(𝑥+2)
=

(𝒙+𝟐)(𝒙𝟐+𝟐𝒙+𝟒)

𝟐
 

podm. 𝑥 ≠ ±2 

d)  
𝟑

𝟒
∙ (

𝟐𝒂𝟐𝒃𝟑

𝟑𝒙𝟑𝒚𝟐)
𝟐

∙ (
𝟑𝒙𝟐𝒚

𝟓𝒂𝟐𝒃
)

𝟑

=
3

4
∙  

4𝑎4𝑏6

9𝑥6𝑦4
∙

27𝑥6𝑦3

125𝑎6𝑏3
=

1

1
∙  

𝑏3

3𝑦
∙

27

125𝑎2
=

1

1
∙  

𝑏3

𝑦
∙

9

125𝑎2
=

𝟗𝒃𝟑

𝟏𝟐𝟓𝒂𝟐𝒚
  

podm.: 𝑎 ≠ 0, 𝑏 ≠ 0, 𝑥 ≠ 0, 𝑦 ≠ 0 

4) Vypočtěte: 

a)  
𝒙𝒚

𝒙𝟐−𝒚𝟐
∙ (

𝒙

𝒚
−

𝒚

𝒙
) =

𝑥𝑦

(𝑥−𝑦)(𝑥+𝑦)
∙

𝑥2−𝑦2

𝑥𝑦
=

1

𝑥2−𝑦2
∙

𝑥2−𝑦2

1
= 𝟏    podm. 𝑥 ≠ ±𝑦, 𝑥 ≠ 0, 𝑦 ≠ 0 

b)  (
𝟏

𝒎
−

𝟏

𝒏
) ∙

𝒎𝟐

𝒎−𝒏
=

𝑛−𝑚

𝑚𝑛
∙

𝑚2

𝑚−𝑛
=

−1

𝑛
∙

𝑚

1
= −

𝒎

𝒏
    podm. 𝑚 ≠ 𝑛, 𝑚 ≠ 0, 𝑛 ≠ 0 

c)  (𝟏 −
𝒙𝟐

𝒚𝟐) ∙ (
𝒙𝟐

𝒚𝟐−𝒙𝟐
+ 𝟏) =

𝑦2−𝑥2

𝑦2
∙

𝑥2+𝑦2−𝑥2

𝑦2−𝑥2
=

1

𝑦2
∙

𝑦2

1
= 𝟏    podm. 𝑦 ≠ ±𝑥, 𝑦 ≠ 0 

d)  (
𝟏

𝒂+𝟏
−

𝟐𝒂

𝒂𝟐−𝟏
) ∙ (

𝟏

𝒂
− 𝟏) = (

1

𝑎+1
−

2𝑎

(𝑎−1)(𝑎+1)
) ∙

1−𝑎

𝑎
=

𝑎−1−2𝑎

(𝑎−1)(𝑎+1)
∙

1−𝑎

𝑎
=

−1−𝑎

𝑎+1
∙

−1

𝑎
= 

=
(−1)(1+𝑎)

𝑎+1
∙

−1

𝑎
=

𝟏

𝒂
   podm. 𝑎 ≠ ±1, 𝑎 ≠ 0 

e)  (𝒙𝟐 − 𝟏) ∙ (
𝟏

𝒙−𝟏
−

𝟏

𝒙+𝟏
− 𝟏) =

(𝑥−1)(𝑥+1)

1
∙

𝑥+1−(𝑥−1)−(𝑥−1)(𝑥+1)

(𝑥−1)(𝑥+1)
=

1

1
∙

𝑥+1−𝑥+1−(𝑥2−1)

1
= 

= 2 − 𝑥2 + 1 = 𝟑 − 𝒙𝟐   podm. 𝑥 ≠ ±1 

f)  (
𝒂

𝒙−𝒂
−

𝒂

𝒙+𝒂
) ∙

𝒙𝟐+𝟐𝒂𝒙+𝒂𝟐

𝟐𝒂𝟐
=

𝑎(𝑥+𝑎)−𝑎(𝑥−𝑎)

(𝑥−𝑎)(𝑥+𝑎)
∙

(𝑥+𝑎)2

2𝑎2
=

𝑎𝑥+𝑎2−𝑎𝑥+𝑎2

𝑥−𝑎
∙

𝑥+𝑎

2𝑎2
=

2𝑎2

𝑥−𝑎
∙

𝑥+𝑎

2𝑎2
= 

=
𝒙+𝒂

𝒙−𝒂
   podm. 𝑥 ≠ ±𝑎, 𝑎 ≠ 0 



g)  [
𝟑

(𝒙−𝟑)𝟐
+

𝟏

𝒙−𝟑
−

𝟔

𝒙𝟐−𝟗
] ∙

𝒙𝟐−𝟔𝒙+𝟗

𝟐
=  [

3

(𝑥−3)2
+

1

𝑥−3
−

6

(𝑥−3)(𝑥+3)
] ∙

(𝑥−3)2

2
= 

=
3(𝑥+3)+(𝑥−3)(𝑥+3)−6(𝑥−3)

(𝑥−3)2(𝑥+3)
∙

(𝑥−3)2

2
=

3𝑥+9+𝑥2−9−6𝑥+18

(𝑥+3)
∙

1

2
=

𝑥2−3𝑥+18

𝑥+3
∙

1

2
=

𝒙𝟐−𝟑𝒙+𝟏𝟖

𝟐(𝒙+𝟑)
  

  podm. 𝑥 ≠ ±3 

h)  (
𝒃

𝒂𝟐−𝒂𝒃
+

𝒂

𝒃𝟐−𝒂𝒃
) ∙

𝒂𝟐𝒃+𝒂𝒃𝟐

𝒂𝟐−𝒃𝟐
= (

𝑏

𝑎(𝑎−𝑏)
+

𝑎

𝑏(𝑏−𝑎)
) ∙

𝑎𝑏(𝑎+𝑏)

(𝑎−𝑏)(𝑎+𝑏)
=

𝑏2−𝑎2

𝑎𝑏(𝑎−𝑏)
∙

𝑎𝑏

𝑎−𝑏
= 

=
(𝑏−𝑎)(𝑏+𝑎)

𝑎−𝑏
∙

1

𝑎−𝑏
=

(−1)(𝑏+𝑎)

𝑎−𝑏
∙

1

1
=

𝒃+𝒂

𝒃−𝒂
  

   podm. 𝑎 ≠ ±𝑏, 𝑎 ≠ 0, 𝑏 ≠ 0 


